
Y3 – Autumn – Block 3 – Step 4 – Multiples of 5 and 10 Answers

Question Answer

1

a), b)

All multiples of 10 are also multiples of 5
c) A multiple of 10 has a 0 in the ones column.

A multiple of 5 has either a 5 or a 0 in the ones column.

2

a)

b)

c)

d)

When starting from the same number, all the numbers on the track for counting in 10s 
also appear in the track for counting in 5s.

3

Multiples of 5 end with either a 5 or a 0, but all multiple of 10 end with a 0, so the first 
statement is not true, but the second statement is true.
Multiples of 5 end with either a 5 or a 0, and numbers that end with a 5 are odd numbers 
and so not a multiple of 2
All multiple of 10 end with a 0, and numbers that end with a 0 are even numbers and so 
a multiple of 2

4

\

Aisha wrote 469 instead of 470
Scott missed out 525

95 90 85 80 75 70

330 335 340 345 350 355 360

90 80

340 350 360

✔
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Y3 – Autumn – Block 3 – Step 4 – Multiples of 5 and 10 Answers (continued)

Question Answer

5

a)

c)

Both arrays have 30 counters.

6

60p
Children could have counted in 5s to 20 and then in 10s to 60
Alternatively, they may have used the fact that two 5s are equal to 10, and counted in 
10s to 60

7

The are no numbers in “Multiple of 10, but not of 5”, because all multiples of 10 are also 
multiples of 5

8

5 and 60
10 and 55
15 and 50
20 and 35
25 and 40
30 and 35

101990

995

457
340 116

115

470 304

355
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